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HOMEWORK ASSIGNMENT #3

(To practice the Lagrange equations)
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HOMEWORK ASSIGNMENT #4
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HOMEWORK ASSIGNMENT #15

BPUIS R ERVE SR

K

V(T) = _7173a

a>0 (1)
KPR AR, RBIRGNT LEhEMT LRER, HAWRTFE; BREHE: BAEGREIANE, i
WRHEE BASHTEsIEN; T FEETEIE 2, i fiee

AERBH RN IS AR, ORBH R AT BB 17 KRS J15MEF —ANHin 7

—

F =—-mCr (2)

T AR S] J1MR %
(a) FH5L: 4752 I PR I 2 R 20
(b) T A7 R B U 2 B30 A 5 P 0

(c) FE—RUEOLT, ATRMPUEES IR PUE. RATEME H A b A fx B 2L H i, 3 0 s rEshf
KNFFFR BB 77 18 5 AT B A7 13 M RIS 2 A I o

RIFRAES

ER N Esh, IFfR R uE S RS2 54 51 1w i Ix il .



HOMEWORK ASSIGNMENT #6
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HOMEWORK ASSIGNMENT #7
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HOMEWORK ASSIGNMENT #8
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HOMEWORK ASSIGNMENT #39
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HOMEWORK ASSIGNMENT #10

- (a) KR AEARANIL R, I H (g, p, t) 135 L(q, ¢,t), I HIENTTREAF B H0A% B H 7 F2 . (b) MR H (g, p, t)
R, & XEEZ RS HE Lp,p,t) = —pg — H(g,p,t), FHHIERITFRA BB s s) 7 2.

T NBEON m BB, BEEN V(7). TEEEMAIRR . BRARAR R LUK R R

o SHARGHHARIIHE, RRA-Rks B Higzhy f2 PR IENZh &
o SHAGHEEPRE, LS /RBUENIZE) T,

Y
[4, BC] = [A, BIC + B|A,C] (1)
0 0A 0B
O (4.5 {&B} N [A, m} @
d dA dB
Gl = Gn] v |4 Q
. UEBH
[%Pj] = 5ij (4)
_of
[Qiyf] = Opi (5)
pis f] = —(% (6)

B gi, py REBNE . AR PR AR AL T .
LN R O R N igE), RS ARG A BT H B SEIENSE, FRHRR S 155
RGN W T IE N Bh R S I SR (K B K R KN pd + oby A

- TRRTEA O J1 g )
V() =-=, (7)
A58 Laplace-Runge-Lenz <& & L4l 9

J:rxp,K:pr—mk; (8)

(a) IEWA MBI ELAT Laplace-Runge-Lenz 4 5pE, Rl
3, H] =0,[K,H| =0 9)

(b) THE N REAATE S

[Ji, i), [Ki, K, [ i, K, (6,5 = @,y,2) (10)

(c) (&fih) 12 SO(4) REEMITTHIMRNE, TIETIA 51 /27X FRE



HOMEWORK ASSIGNMENT #11
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